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@ x*-x-6=(x-3)(x+2)

@ -4 =(x+2)(x-2)

® & —x -2 =x(x+1)(x-2)
@ 18x% - 2x = 2x(3x - 1) (3x + 1)

@3x2—|—6x—|—3:(3x+1)(x+2)

©3x2+6x+3:3(x+1)2




ohe 5 SHAIBAl] HE S BE D297
@X2+10x+25 <@>x2—|—8x+ 16
@ x2+12x+25 @ 222 + 4xy + 4y
(@)x2 + 6xy + 9y2

@ (x+5)2

@ (x+4)2

® (x + 3y)?




3ab? — 15a’b & JATENTF A7

@ abla-b) @ 3a(b? - b) @)3ab(b - 5a)
@ ab(a+ b) ® 3a*(b* - 5b)

3ab® — 15a*b = 3ab(b — 5a)




Sf&Al o]-§5ke] 132 - 122 = 13+ 12 2 A{tst3int. of of,

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)*
@)a?-b* = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

132 -122 = (134 12)(13-12) = 134+ 12 =25
webA] o] g8 FALL o - b? = (a+ b)(a—b) °IFh.




5. a-b=2V324 W, a®+b*>—-2ab-3(a-b)-12 2] g7

@—6\@ @ 1-6V3 ® 2-643
@ 3-63 ® 4-643

(£4) = (a-b)*-3(a-b) - 12
=(2V3)2-3x2V3-12
=12-6V3-12=-6V3




oS 4] 4a? + 0 + 962 o] FAAFA] HEE ool gdut
TE2HY

D +6ab @ 6ab @ —6ab
@ilZab ® 12ab

(2a + 3b)* = 4a? + 12ab + 9b?




8l+x*=x*-81=x*-92=(x+9)(x-9)




8. 6x2—x-2,4x>—4x-3,2x*> +ax-2 7} x o ISt LAASE FFQ
A% 71 1, o] 2 FoE?

@ 9 @ 6 ® 3 @-3 -9

B ~

6x2 —x—2=(2x+1)(3x-2)

4x? —4x -3 = (2x + 1)(2x - 3)

B2 ASE 2041 I,

22 +ax-2=(2x+1)(x-2) = 2x* - 3x -2

T a=-3




9. TF olAA FF 157t 20— 2 U u), THE § <

219
RO T B w

6x2—8x+m
D 2x-1 @ 2x+1 @3x—1
@ 3x+1 ® 4x-1

B

6x2 —8x +m = (2x — 2)(3x + k)
= 6x2 + (2k — 6)x — 2k
%—6=-8k=-1, 2=m=2 ot
6x2 —8x+2=2(3x-1)(2x-2)
webA oh2 @ Q14 3x— 1 olek.




10. 2 - 20y~ 1+ & AR afeta?

@(x—y—l-l)(x—y—l) @ (x+y+1)(x+y_1>
@ (x-—y+1)(x+y-1) @ (x—y-1D(x+y-1)

® (x+y+1)(x-—y-1)




11. x*-4x-A=(x+5)(x-B) oA A+ B 9] 3t-2?

® 6 @ 9 ®20 @19 O

B

x> —4x—A = x> — Bx+ 5x - 5B,
5-B=-4°]|BE2& B=9
5B=A°C|BZ2 45=A
oA, A+ B=45+9 = 54




O|ZFA X% + ax + b B A ot 2 x T AFE
B (x+4)(x-7) 2&2 QJAF4ES) ol S2 AT EX B
(x=2)(x-10) 2 &2 QI5Hal stglet. o] wl, a — b 9] 27
@ 10 @ 12 ®)16 @ 18 ® 20
B ~
Zro] E o] A2 (x+4)(x—7) O] B2 x2 - 3x—28 0|1,
x FO ASE AR Hepong AFpghe 98 ot}
go] &F o]ZAL (x-2)(x—10) O]E& x2 - 12x + 20 °] L,
Ao ZF Hokong x o] A4E ~12 o|th
a=-12, b=-28
a-b=-12-(-28) =16




13. & xy+bx—ay—ab = AFE|SHH?

D (x-a)y-b) @E-ab+b) O (x+a)y-b)
@ (x+a)(y+b) ® (x-b)(y-a)




14.

(@] +36x+[©] = (2x+[©)*

632 + 1+ (@] = (B3r+5)(2x + @)

D 6.0 @ 5,0, ® 06
® 0@ ®e.e

B

@:22=4
©:4x©=36, .©=9
©: 92 =281

@:10+3x@=1,.@=-3
®: (-3)x5=-15







